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"7 EXERCISE 5.4

.

Divide each of the following :

N 2D 5 13 26 3 3 5
@ 11 by > a5y (i1) A by 21 (ifi) (- 6) by Tl (fv) — by = g
Evaluate :
O 577 (1) 13 (EJ () 51 " &3
15 4 © 7 " 28
. . =13 . =26
The product of two rational numbers is 5 If one number is — find the other number.
-3
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5 10

Divide the sum of —692 and —~3— by the product of (—3— and =

4
The cost of 12 pencils is T 373. Find the cost of one pencil.
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By what number should 20 be divided to get 5
{1l i Ehe Blank & ==+ i
Fill in the blank : 772 % (oo 5

1 . 4 _
A car covers a distance of 1895 km in 45 hours. Find the distance covered in one hour.



